20245 AIHE SH/=EA M1A 7188 A=0AM

20244 38 1e5H

AAIIZ : 550514 254 2827t




z

&l

I3 E T30

=
.

20243 HA = SE=3H HI1x

H2% .

&t
Al
0

o}
o
THr
IO

il
o]
ol

3

13

]

ol

Ll

2/102



= ==0s = = S | = 1T
202432/ HAE SE22H HIX FIIEE AS0UMH SEH
(Et5): @)
+ o 9 = noE o =
20243 HRE | _ . | 20243HEE | o | = o 20243 HGE | _ . | 20243H9E | _ . | = o
s sz gee | TOY = gee | TOS BSOS B o= | 1ez dew [TOI) T=aae | TOS BSOS
(A) (8) (A) (8)
s=249 108,730,325 | 95.5 | 108,730,325 | 98.5 ) EPN 56,785,194 | 49.9 54,775,354 | 49.6 | 2,009,840
19 @ J|e=
aa = JI= - - - - - 22w 15,273,944 | 13.4 13,693,243 | 12.4 | 1,580,701
T g
mETT PSS - - - - - et ez 23,774,006 | 20.9 23,477,467 | 21.3 296,629
089 49 1,677,624 | 1.5 1,652,370 | 1.5 25,254 |Rg2AHI8 250,500 | 0.2 250,500 | 0.2 -
E 3
TAIIERE - - - - - l=z=2 2,485,072 | 2.2 9,000,000 | 8.2 | 6,514,728
T g
DA AR Q2
ptalaliie 3| 0.0 3| 0.0 - lonwe 95,279 | 0.1 70,000 | 0.1 25,279
T =
=
es2 22 - - - - S P - - - - -
1= T AHOH ©!
DFeH 93 - - - - - e 15,205,347 | 13.4 9,116,134 | 8.3 | 6,109,213
Py - - ) . —
DS - - - -
g 3 110,407,952 | 96.9 | 110,382,698 | 100.0 25054 | & 113,889,632 | 100.0 | 110,382,698 | 100.0 | 3,506,934
DIAFS &I S
sl 3,481,680 | 3.1 - - | sasrem0 042 - - - -
EPEIT ESETT
AER 113,889,632 | 100.0 | 110,382,698 | 100.0 | 3,506,934 [ =" 113,889,632 | 100.0 | 110,382,698 | 100.0 | 3,506,934
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A = 0O & A

(20244 038 01L2H 20253 028 282 NtHXl)

1. ¢ (Etel: el
o = 202431 01E | 20243/ 0% N
- ¥ — %8 dew | = doy s EE 2
5100 SSE==¢¥ 108,730,325 108,730,325 -
5110 S=E==¥ 108,730,325 108,730,325 -
5111 - - -
sSFgsas
g -
5112 651,640 651,640 -
etdgs= e MFAMEY SE= BAM F2>
—JISUHZHSE AA 18Xt 620,000 x38H 23,560,000
—JISUAEZUHSA A 25X 620,000 1 620,000
—JISUHZ A AAF 38Xt 620,000 %1 620,000
—JISudEUSE HA 38MAF 620,0008 1 620,000
—JISUHZHEA AAF 48X 620,000 x2H 1,240,000
—JISudEUSE &A1 R 830,000 %928 76,360,000
—JISUHZHEA 2FAF 38Xt 830,000 6 4,980,000
—JISWEEUSE A 457 830,000 1 830,000
—JISUHZ A 2HAF 65X 830,000 x4 H 3,320,000
—JISudEUSE S AL 1SR 830,000 5 4,150,000
— PSR AAF 151X 620,000 x99 61,380,000
— Alstiista HAH 15X 620,000 %2708 167,400,000
—alsttist@ HAF 2R 620,000 x6 S8 3,720,000
— AIstiista A AF 35X 620,000 *6H 3,720,000
— Astiist@ A 45X 620,000 *3H 1,860,000
— A MASII S A AAF 188X} 620,0003«15E 9,300,000
— WSt AAF 15X 620,000 *7138 44,020,000
— WSS A 3SHX 620,000 %1 Eé 620,000
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= 202431 T | 20243 A =
— 1R Ofl Ao = (f) Ao < AEDN 2
= g = (A) (8)
— 2A=XIER AAF 1555 620,0002 %382 23,560,000
— A SRR A AR 18HXF 620,0003 %148 91,760,000 &
— AFCHTHBIR A A} 28H R} 620,000 *4 S 2,480,000 &
— AEHOH SR A AL 38HXF 620,000 *2H 1,240,000 &
— 235102 HE R A AF 185 %} 620,0009 %372 02,940,000 ¢
— 230l=0std S A 1S 620,000 *x12H 7,440,000 &
® §&tel 28t)| Qlata
—JESNNIUSA &AF 28K} 620,000 +1H 620,000 &
—JSDHE20EY AAF 35X 620,0009 %1 620,000 &
—J|ESnNHIUsHA BEAF 18X} 830,000 x12H 9,960,000 &
— S DHES0EY AL 25H X} 830,000 %2 1,660,000 ¢
—J|ESNNMIsHA BEAF 38R} 830,000 +1H 830,000 &
— S DHES0EY AL 65X 830,000 %3 2,490,000 &
—JISUNMIOERA A8AF 1 X 830,000& 3 2,490,000 &
—JEDHSYEY A BEAF 68X 830,000 1 2 830,000 2
— utfhiard A A 18X 620,000 +96H 59,520,000 &
— AIBHIHEIRl A A} 28H X} 620,000 %5 3,100,000 &
— ASHHEHR A AL 38HXF 620,000 *1H 620,000 &
— AIBHIHEIRl A A} 4BH X} 620,000 3 1,860,000 ¥
— BA=EXUHER &AAF 18R 620,000 +5H 3,100,000 &
— AFITHENR A A} 28H X} 620,000 x4 2,480,000 &
— ALEHOH SR A AL 38HXF 620,000 *1H 620,000 &
— AFITHENR A A} 58X} 620,000 %2 1,240,000 ¢
— 230l=Ustd A AF 28X 620,000& *3H 1,860,000 &
8 651,640,000 &
511 87,922,068 87,922,068
ste a2 < MBAE S22 FHA &2X>
@ &8 ~o2
—ol2Hg s=2 '9,632'd 33,705,072,000 33,705,072,000 &
—XoiHE S=2 '7,243'% 30,430,646,0002 30,430,646,000 &




= 20243 HHE 20243 HHE =
1X5=E 0f AtH = Ol Ao < MEZHAH =4
e ] 2 ) (8) (
—HEHE S22 =2 '1,576'H 6,948,716,000& 6,948,716,000 &
—sHE S22 =2 '3,656'H 16,632,344,000& 16,632,344,000 &
© 2RSS SEFSHE 29
— MBS =82 90,0008 +1118HA 9,990,000 &
— 8| =2 90,0008 +100sHA 9,000,000 &
® HESD| 29
—olHAIAHESH)| =2 = 90,000&*970sHHE 87,300,000 &
—ZSAHAHESD| =22 90,000&*1,100&+H 99,000,000 &
gtH:| 87,922,068,000 &
20,156,617 20,156,617
< NEAYE SE2 GHM &>
—JSDNEIUSA AAF18X}F 3,921,000 x38H 148,998,000 &
—JESDNNIUsSH &AL 28X} 3,838,000 %2H 7,676,000 &
—JIESndEZsta A A 28Xt 3,838,000 +«1H 3,838,000 &
—JISHNNMISHSHA A AF 38X 3,838,000& *x32H 122,816,000 &
—JSnNEIUSHA A A 38X} 3,838,000 +1H 3,838,000 &
—JESNNIUsSH & A 38X} 3,838,000 +1H 3,838,000 &
—JSDNNEIUSHA &AL 48X} 3,736,000 x5 18,680,000 &
— J)ISNHMEBHSHA BFAF 18X 4,732,000& x92H 435,344,000 &
—J|SDHEIOSHRA BHAF 28X} 4,632,000& x20H 92,640,000 &
— J)ISWHMEHSHA BFAF 38X 4,632,000&x73H 338,136,000 &
—JSnNIOSH BHAF 38X} 4,632,000 «6H 27,792,000 &
—JESENHNIUSH BHAF 48R} 4,512,000 +«9H 40,608,000 &
—JSDNEIOSHA BHAF 48X 4,512,000 +1H 4. 512,000 &
— J)ISWHMEHSHA BFAF 58X 4,512,000& x60H 270,720,000 &
—JSDHEIOSHA BEAF 68X} 4,520,000&*x21H 94,920,000 &
—J|sSnNdIOSH3 A8AF 1SR 4,732,000 x5 23,660,000 &
—JSDHEIOSHA ABFAF 28X} 4,632,000 %2H 9,264,000 &
—J|sSnNdZ20sH3 A8FAF 38X 4,632,000 *3H 13,896,000 &
—JSDHEIOSHA ABFAF 48X 4,512,000 +«6H 27,072,000 &
— JISWNMBHSHA HBEAF 58X 4,512,000 x4H 18,048,000 &




= 202431 T | 20243 A e ] o
— 1R Ofl Ao = (f) Ao ey AEDN o
= g = (A) (8)

—JSDASYEY HBEAF 68X 4,520,000 «32 13,560,000
—JSDNHIOSHA ABFAF 78X 4,520,000 +«6H 27,120,000
—J)SDNSYEY MUA 8Bt SRS E 4,267,000
QOSSR A AF 18HXF 5,405,000& x99H 535,095,000
— UBHIEIR A AL 28H R} 5,294,0002%75 397,050,000
— UBHHEHRA A AF 38HXE 5,294,0003 x70Y 370,580,000
— AIBHIHEIR A AL 1BHR} 4,220,00021%270 1,139,400,000
— AMSHHEHR A AL 28HX}F 4,123,0003 x3Y 12,369,000
— AISHIHEHR A AL 28H R} 4,123,000 +62 24,738,000
— AESHEHRA A AL 38HXF 4,123,0003 %243 1,001,889,000
— AIBHIHEHR A AL 3BHR} 4,123,000 +62 24,738,000
— AESHEHRA A AL 45X 4,016,000@ %22 88,352,000
— AIBHIHEHR! A AL 4BHR} 4,016,000 32 12,048,000
— AESHEHR A AL 58HXF 4,016,0003 %243 975,888,000
— AIBHIHEIR A AL BBH R} 4,037,00020%22 88,814,000
— pISHIHSHR DAL SR SR EE 7,034,000
— AR AIBIYEIR A A} 18E R} 4,678,00080 %152 70,170,000
— AFMANESHSHRA A 28X 4,581,000 «1H 4,581,000
— AR AIBHYEIRl A A} 38HR} 4,581,00090 %172 77,877,000
— AFMANSHSHR A A 5SEXF 4,395,000% +16H 70,320,000
— AFAIBIYEIR AAl 5BHR BIRER 2,116,000
— WA AAF18HXF 4,678,000 %71 332,138,000
— DS AAL 28X} 4,581,000 32 13,743,000
— WA A AL 38HXF 4,581,0003 x66H 302,346,000
— DS AAL 38X} 4,581,000 %12 4,581,000
— WA A A 458X} 4,395,0003 x2H 8,790,000
— DS A AL 53X} 4,395,000 64 281,280,000
— EA=XIER A A} 1857} 4,678,0002 %382 177,764,000
— BAHSXIEY AAF 25X} 4,581,00090 %7 32,067,000
— 2H=XIE R A AF 355 R} 4,581,00024 %30 137,430,000
— 2ASXIEY A AF 45E %} 4,460,0009 %5 22,300,000
— 2= XIS A AL 555 % 4,460,00081 %29 129,340,000
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o = 20243 NSE | 2024309 E | .o,
1X5=E 0f AtH = Ol Ao == MEZHAH =4
% 2t s ) (8) )

— AEHSHR A AF 1S X1 4,678,000 %148 692,344,000 &
— MEHEHR A AL 28R 4,581,000 «6H 27,486,000 &
— AEHSHR A AL 28X 4,581,000 %4H 18,324,000 &
— MEHEHR A AF 38X 4,581,000 %1389 632,178,000 &
— AEHHSHR A AL 3SEXF 4,581,000 %2H 9,162,000 &
— MEHEHR A AL 45X 4,460,000 +18H 80,280,000 &
— AEHfSHR A A} 5EFX) 4,460,0003 %1299 575,340,000 &
— 20 =S AAF1SERF 5,717,000 x37H 211,629,000 &
— 230 =HEA A 1&EXE 4,675,000)%12H 56,100,000 &
— 230 AAF 38R} 5,600,000 x32H 179,200,000 &
— 230 =& A AF 3&HXE 4,580,000 x3H 13,740,000 &
— 20 =S S AN 48R} 5,432,0008x9H 48,888,000 &
— 230 =& M AF 58X} 5,432,000 x33H 179,256,000 &
— 230 A AFBSER}F 4,400,0008 x3H 13,200,000 &
® &t 28t =2
—JISHNNMIHSHA A AF 28X 3,921,000& x32H 125,472,000 &
—JIESndIsta A A 28Xt 3,921,000 «1H 3,921,000 &
—JESENNIUsS A A 38X} 3,838,000 «7H 26,866,000 &
—JSnNEIUSHA A A 38X} 3,838,000 +1H 3,838,000 &
—JISHNNMEHSHA A AF 48X 3,838,000&*30H 115,140,000 &
—JSDHEIOSHA BFAF 1SR} 4,732,000 %x12H 56,784,000 &
— I SNHMEHSHA BEAF 28X 4,732,000&x72H 340,704,000 &
—JIESnNNHIOsH BHAF 28X} 4,732,000 2H 9,464,000 &
— J)ISWHMEHSHA BFAF 38X 4,632,000& 19X 88,008,000
— SN IOSHA BHAF 38X} 4,632,000 +1H 4,632,000 &
— J)ISWHMEHSHA BFAF 48X 4,632,000& x67H 310,344,000 &
—JSWHIOSH BHAF 58X 4,512,000 «8H 36,096,000 &
—J|snNd20sH3 8FAF 68FXF 4,512,0000& 49H 221,088,000 &
—JSDHEIOSHA ABFAF 1SR 4,732,000 %3 14,196,000 &
— ) ESNHIUSH ABEALF 28X} 4,732,000 +«6H 28,392,000 &
—JSDHEIOSHA ABFAF 38X 4,632,000 +4H 18,528,000 &
— ) SWNMBHSHA HBEAF 48X 4,632,000 x4H 18,528,000 &
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S eS| o
o = 127:?2;2? ﬂmﬁ Zoéﬁﬂlﬂ SAZA AED 2o
@ ] s A) (8) (A-B)

S uNS0a e MOA 55K 4.512.0008 48 18.048.000 &
—JSDNHIUSHA ABAI 68X 4,512,000 +5H 22,560,000 &
_ISDEDYEY MEAL BB 4,512,000 12 4.512.000 &
—JSDHIOSHA ABHAF 78X 4,520,000 %5 H 22,600,000 &
_JSDEDYEY MBAN 8B 4,520,000 47 31.640.000 &
QB S A A 18HR}F 5,405,000) x96H 518,880,000 &
_ QB A Af 25t R} 5.405,0008 %942 508.070.000 &
— L BHHSHR A AL 38HRF 5,294,000& 759 397,050,000 &
_ QBB A Af 43R 5,294,000 602 317,640,000 &
— AMSHIHSHR A AF 28HXE 4,220,000 %2609 ,097,200,000 &
_ MBS A AF 23t R} 4.020,0008 %52 21.100,000 &
— MSHIHSHR A AL 38HRF 4,123,000 %20H 82,460,000 &
_ MBS A AF B3R} 4.123,0008 %1 4.123.000 &
— MSHIHSHR A AL 45HX) 4,123,000 %235 H 968,905,000 &
_ MBS A AF 43HR} 4.123,0002 %32 12.369.000 &
— MSHIHSHR A AL B5SERF 4,016,000 +«15H 60,240,000 &
_ MBS A AF 63HR 4.016,0008 %220 883.520.000 &
— MESHHERA AAL BEIX SHEE= 8,892,000 &
_ AEAIBYER S A D8R} 4,678,000 172 79.506.000 &
— AlMAISHIHE R A A 38ER} 4,581,000 +1H 4,581,000 &
_ ARMAIBYEE A AL 45T 4,581,000 162 73.296.000 &
_ AFMASI SR A A BT BIRES 2.616.000 &
_ DSHE MAf 23R} 4.678,0002 632 294.714.000 &
— =& A A 38R 4,581,000 +«7H 32,067,000 &
_ DSEE A AL A5HR 4,581,000 <592 270.279.000 &
— =S A A 58X 4,395,000 «4H 17,580,000 &
_DS0s MA BRI BIEER 2.132.000 &
_ SAST ISR A A 15T 4,678,0008 <52 23.390,000 &
_SHSXE R A A} D3R} 4,678,000 4332 154.374.000 &
_ SAST ISR A A 35T 4,581,0008 <52 22.905.000 &
_ S YER A A} 45T 4,581,000 %302 137.430.000 &
_ ST SR A A 55T 4,460,000 8 <32 13.380.000 %I
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o = 202431 A1 | 2024310 = A 101
> - — 1X5 oo [ = oflaroy = MEDA =
= e = (A) (B)
— ATEHTHENR A A 28t R} 4,678,000 %130 608,140,000 &
— AEHHEIR A AL 28t T} 4,678,000 *4 18,712,000 &
— AEHTHEHR A AL 38HR} 4,581,0008 *1 4,581,000 &
— AEHTHEIR A AF 38R} 4,581,0008 *1 4,581,000 &
— ATEHTHENR M A 45HE} 4,581,0008 %1182 540,558,000 &
— AEHTHEHR A AP 55HE} 4,460,000 8 x232 102,580,000 &
— AEHTHENR A AL 55HE} 4,460,000 *2 8,920,000 &
— MEfEe AAF B8R SR SE 1,063,000 &
— 2SS UE Y AAL 28HXF 5,717,0002 %39 222,963,000 &
— S50 SR A AL 255} 4,675,000 +8 37,400,000 &
— S50 S A A AL 28K} 5,717,000 %3 17,151,000 &
— S50 S TE R A AL 35FF 5,600,000 %2 11,200,000 &
— S50 Z TS Y A AL 43¢ %} 5,600,000 %27 151,200,000 &
— S50 ST R A AL 455 4,580,000 +4 18,320,000 &
— S50 A AL 53Rt 5,432,000 %59 27,160,000 &
® Oi8 el HEEI| 22 49
—358%90,0002 *32 F*20 & )| 18,900,000 &
83: 20,156,617,000 &
5120 22242 - - - -
5121 - - -
ST
- -«
5200 ML) £49l - - - -
5210 Mol24¢l - - - -
5216 - - -
DU
- - 9
5400 12942 1,677,624 1,652,370 25,254
5410 G120/ Xt%2 40,208 33,434 6.774
5411 40,208 33,434 6.774
VLIRS ® 020l Xt
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o = 20243 NSE | 2024309 E | .o,
1X5=E 0f AtH = Ol Ao -2 MEZHAH =
2* 2t s ) (8) )
—0l= Ol At 20,000,000 20,000,000 &
@© Har& 0201 A
— 20l A =& 13,434,000 &
@® HSAELH HWSRAS=E2S|H Lt L2(Hst=sE 6,774,000 &
gl 40,208,000 &
5420 J|Et =2l =2 1,637,416 1,618,936 18,480 1,637,416,000
5421 1,637,416 1,618,936 18,480
&=l @ &=¢
—&=2 1,613,836,000& 1,613,836,000 &
o |AZE2ALAMEIA 1012 +10,000& 100,000 &
® 2222 2 £=¢ 5,000,000& 5,000,000 &
@® NP HSE=E225H B1-1-2 82 d2)|Bt ]
—2023stEH L HMAAIL 0IZSF DA LAIS 84 18,48( 18,480,000 &
gl 1,637,416,000 &
1300 0 & XFAHOH 2= 3 3 =
1310 S & D& KA 2= 2! S 3 =
1311 & K| 0 2HCH - - - 2[5 - &
1312 HS0H20H - gl - &
1314 1 1 -
JIHI DI 2 0H2HCH ® W=2=X 1,000 1,000 &
gl 1,000 &
1315 1 1 -
D" S 002 CH ® U=2=X 1,000 1,000 &
gl 1,000 &
1316 1 1 -
XS e300 20 ® W=EX 1,000 1,000 &
sl 1,000 &
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= 20243 NSE | 2024309 E | .o,
IR oarod | = o arod AT R 2o
% 2t s ) (8) )
1317 - - -
& A O02HCH
2! _ =
ol & A 110,407,952 110,382,698 25,254
=M | 3,481,680 = 3,481,680
1100 Dl =R = KHAt 44,468,732 = 44,468,732
1110 43,284,800 - 43,284,800
SESX3 @® MEX HESE2Z2SH 0IAI=2 N2 11X 31,481,525,000 &
@ USFE2H WstAS=E223H 02018 X2 8 11,803,253,000 &
@& s Mshx LBHSH e 23| H(™MQH) D 22,000 &
gtH:| 43,284,800,000 &
1120 1,183,932 - 1,183,932
JIEt S = RHet @® MEX HESE223H 02012 X =P\ 1,177,527,000 &
® LS EEDY (o RS=235% DMS0 RIS JlE 6,402,000 &
& ISRDSH YPSY SRS =28 (RO) 0 3,000 #
2[5 1,183,932,000 &
Z2HS2EM 40,987,052 = 40,987,052
2120 81,321 - 81,321
== =3/ H OIAFZO0IE X2 0l=2 1 Xt 81,321,000 &
2[5 81,321,000 &
2130 39,529,946 - 39,529,946
He=2 OAI2018 X2 82 1X} 31,005,837,000 &
E23H 0IAIE2 = A< 8,524,109,000 &
sl 39,529,946,000
2140 1,375,785 - 1,375,785
IEtR S22 =23l OIAIE0IE X2 JIEIRSEX 1,375,785,000 &
sl 1,375,785,000 <
=2 = 2 = ] 113,889,632 110,382,698 3,506,934
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A =

Ol

& A

(20243 03& 01L2E 20254 028 282 NtXI)

(Bl &)
= 202431 91T | 20243 AT = ooy
— 1= ofl Ak = 0fl Aoy T AE2H 2o
g = (A) (8)
56,785,194 54,775,354 2,009,840
42 041,009 40,039,809 2,001,200
24,204,211 22,204,211 2,000,000
< MBUE AHHIGMA BE>
@IEAZ X
—DAZ0 22,204,211,0002 22204,211,000 &
@ QIAZZIAl (HEIS =225 H DX stol, 2,000,000,000 &
I 24,204,211,000 2
4112 1,698,983 1,698,983 -
DA < MBUE AHHIGMA BE>
@DEAS0IXIZ
—DAN 2 1,698,983,0002 1,698,983,000 ¥
B 1,698,983,000 &
411 8,063,968 8,963,968 -
e <% MEUE QHHIGMA BE>
® LIS 2 A}
— AFBHEFD| 32%100,000 872 2,100,000 &
@UEH Y
— HUDAE VLA 35,0008 «230 A1 2% 15Z %254 241,500,000 &
— 2 DAXEHLALZ 35,0008 «230A1 2tx 15254 )| 241,500,000 &
— AxY 292 56,0002 <660 2Hx15Z= %25t ]| 1,108,800,000 &
— D=H| 50,0002 %50 «157F%25¢ )| 75,000,000 &
— HEEI| AR MU 45 0002 +53A 2 #15%+08 71,550,000 &
— HEEI| AR 2 56,0002 #3Al 2x15F 28] 5,040,000 &
® ST
— A SHSI A TFE JF ALARH] 1,000,000%428+1,500,0002 8,500,000 &
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>
rJ
oy
|0

)l

@AIZIZ o=

— ZALE AS 56,0003 *340A1 2k 15F=#28H |

= B2 53,0003 #3501 2tx153=+254 T
2= AS 56,0003 *340A 2tx23=%28H |

o=

o
O O
o

02 02 (Y
Job

o J

Ja
[0

PIAL 222 X8

T ® |
-
0

N o
=
U

F

Pl
»
&

(_J'ﬂ

10

r

T ® |
EJ
0
o
Jo
%0

NS £H S
A

BH2 A

0y
=
il
12

2= B= 53,0003 #350A1 2Fx2F=#258¢ |
2

|
=2t 52,000 *21 Al 2F + 0F2F 55,0002 *30A
H Hlw 2 52,000 2 A1 2H+11F%40

L34 *2

[2+E 100,000& *1 Al=%122

571,200,000
556,500,000
76,160,000
74,200,000

487,288,000
9,152,000

2,400,000

o = 20243 HH 20243 HH =
— 1XFE Ol AbH = 0fl AreH MEZHA = 9
o g = (A) (B)
@© DNAJCIHEIE & A2
—uWRACIHEE X A2 1,000,000&*8H*103] 80,000,000 &
(OBMESEC DU E=PNPNY=]
—ANSAAME XZ 350,000 *x2H 700,000 &
—NHBAHAMS(WHE) A= 200,0008%10™ 2,000,000 &
—HEMAMF(UHE) X2 2,000,000 +7H 14,000,000 &
® 2= W& EZA500,000%259H 12,500,000 &
®© WIAALSEAZ 7,091,238,000& 7,091,238,000 &
© UstHd HESHD| Z2A=
— HESH| F2HLAIZ 52,0002 *30Al 2=+2 4 BEx2Jl| SF D) 6,240,000 &
— HESH| OF2HZAFZ 55,000 & *30 Al 2=+1 JHBEx2Jl SF D) 3,300,000 &
Al 8,963,968,000 &
411 3,205,607 3,205,607
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o = 202431 HOIT | 20243 H % = oo
1XH=2 Ol At = 0 Abo Sos NEED 2 o
= 2 = (A) (8) G
— &I3H|:43150,0002 200,000 &
©® 0|2 2|20 Zoiy3]
— HBI A2 CHAF 200,0009 «3El+E 22 AF 100,000 #3 1,350,000 &
— AAFIRI3OlH| 9,900 %10 *23] 198,000 &
— 3409 38,0008 38,000 &
® 2L=0{ JPT ZAILHE
— JPTZAIZ 15,0002 40 600,000
—HEAZ 2244 100,00080 %1 B+ 4 AL 50,000 * 290,000 ¢
® Z=20{ HSK ZAITH 3]
—HBIAZ 2244 200,000 %1 E+24 4t 100,000 500,000
© D= SDHZAS N
— SRR Y ASAX REH 11,0002%15% 165,000 &
— WA ASA 20E3] 100,000 100,000 &

—02SR SwdE JIES 11,0003 *4H=1000 Il 440,000 &
@ "DIcHOITH A PLUS BHA O{EI01E &AL

— & == 40,0003 %14 40,000 #
— 2] MaElid] 72,0003 72,000 &
— 2tAlH] 2,0003 #40H 80,000 &
@ "Lo=ETDIxE & SEARAS LS EIZ "

— B ATHOIH] 220,000 « 1 CH 220,000 &
— AAEL 7,000 %273 189,000 &
@ "Nz Asseyst 22 H"

— & == 40,0003 %14 40,000 #
— B ATHOIH| 280,000 «1CH 280,000 &
— Z2tAIHl 1,000&+40H 40,000 &
— ALAHEI 7,000 «40H 280,000 &

— T2 )8 2498l 0
© AMZEO0IE dzAddE8ZE )

— 2 ALE 100,000 %2 200,000 &
— 2HAIH] 2,0003 %409 80,000 &
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o = 20243 HH 20243 HH =
— 1XFE Ol AbH = 0fl AreH MEZHA = 9
o g = (A) (B)
— &8 40,0003 *1 4 40,000 &
— HAOHl 350,000 =1 CH 350,000 &
— T2 )g&gH| 40,000& 40,000 &
— 2FAH] 2,000& x40 80,000 &
® &AL
— MEF2Hl 150,000& x4 & =2 600,000 &
— & 2=9 (500,000 %1IH)+(40,0002 «4H) 660,000 &
— YO H]l 50,000& *20H 1,000,000 &
— HIOIZHOB] 18,000& *x25H 450,000 &
— S AH] 20,0003 %40 &= 80,000 &
— st=03 XI& 8l 250,000& 250,000 &
® W& AOIL
— 2FAH] 1,000& *30EH *1 3 30,000 &
ASUX ¥ HEME
—StNdas 2 Bas GF HEH000& *40H 200,000 &
© =20 AIALS
—AMNISXNNERE USAS JIIES 10,0003 *231 I+ A 2! 2,636,000 &
® WH==X 1,000 1,000 &
© SFRIAANEEL
—d st FAIEE 2 1,00,0002%5A|2F+2 0= 1,000,000 &
—sg WESE2Z 1,00,000@ #4A| 2tx2 10t = 800,000 &
® WH==X 1,000 1,000 &
@S AE RT3
—QEMZIISZH| 100,000& *2 Al 2t*23] 400,000 &
—&IAFHl 100,000& %2 Al 2F 200,000 &
—Al&Hl 244 200,000& 18 200,000 &
—Al&Hl 224 150,000&*1 & 150,000 &
—Al&Hl &ed4 100,0003 %1 & 100,000 &
—MZ4| 20,000&*10&! 200,000 &
—3|2/dl 10,000&*10H 100,000 &
—& =9 50,0001 & 50,000 &
OIFERELMEZEUZ
—2&lAHEl 200,000& *3H *23| 1,200,000 &
—Al&Hl 24 100,000@x2H*23] 400,000 &
—Al&HHl 24 50,0002 %2 %23 200,000 &
—Al&tHl S4 30,0002 *2H*23] 120,000 &
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—ZISIH] 10,0002 %102 *25] 200,000 &
—& 49} 50,0002 1 & #23] 100,000 &
—2HAIH| 4,000 *302 x23] 240,000 &
OEBDIREEESY
—S 26| 100,0002 %1 Al 2H#23] 200,000 &
—S 26| 200,0002 +1 Al 2H#23] 400,000 &
—812:9} 50,0008 *1 & 50,000 &
OISIEE-THEE-BIEEN)
—S24H| 35,0002 3 Al 2H*55|x2I} 8] 1,050,000 2
—2HAIH| 4,00021+302 53] %24 54D 1,200,000 2
CIIBSALETYS
—H A2 500,0008 %23 1,000,000 2
—B &2 50,0002%23| 100,000 &
—2HAIH| 4,00021+302 23] 240,000 &
@I A R Y
—S 26| 35,00021%3AI2t#53] 525,000 &
—2HAIH| 4,00020+302#53] 600,000 &
OESAR T ASA YT SASUHRCSHIZR]
—S24H| 35,0002 x4 Al 2+ %2} 8] 2,240,000 &
—2HAIH| 2,0002*402 x4 224 84D 640,000 &
@3t DS F X0l
—S 26| 200,0002*2 A1 2H#23] 800,000 &
—39/H] 10,0008*10%*23] 200,000 &
—812:5} 50,0008 *1 & #23] 100,000 &
—2HAIH| 4,0002 402 23] 320,000 &
@I BEBYR
—H AR 500,0008+33] 1,500,000 2
—B &2 100,0002+33] 300,000 &
—2HAIH| 4,0002*402*33] 480,000 &
OEENEERIE
—ZESIEH U 402K*10,0008 %23 800,000 &
—S AP ZH Ul 402K1%10,00081%23] 800,000 &
—S M ZH bl 202K*10,0008 %23 400,000
—2 X SHEH Ul 202KI*10,00081 %23 400,000
—2HAIH| 4,0002 1502 x23] 1,200,000 2
—&/ 9/l 10,00021%10% 100,000 &
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o = 20243 H A & 20243 HAHE = A 2rol
1XF=E Ol A = 0Ol &reH N MEZA = 9
g g = (A) (8) ot

—OMREZ ] &I ESEHI 2| 3,500,000 3,500,000 &

@34 Xl—ol- .”E:iDd X| EHS’—'

—Al&HH| :‘M 100,000&*2H 200,000 &

—Al&Hl 24 50,0003 *2H 100,000 &

—Al&HHl =4 30,0003 %29 60,000 &

—3|2/d| 10,000&*154Y 150,000 &
—& =8 100,000 *1 & 100,000 &

—2tAIH| 4,000& %1009 400,000 &

© 2HSAS AREESES

— HAAXHl (550,000&%13])+(275,000& *13]) 825,000 &

— 238 & 30,000&%23] 60,000 &

@ 2ZsE SEXNQYFH

—ASZAESUW= 50,000&*100YH 5,000,000 &

@ s 22ures)

— HAUXZ 600,000 *13] 600,000 &

— SFMAITH 7,000&*40Y *1 3| 280,000 &

@ 2ZsE 2HALLUCHE IR

—HALXE 700,000& 700,000 &

— SHMAITH 7,000&*100Y*23] 1,400,000 &

— =8| 1,200,000 1,200,000 &

— 2tAIH] 2,000& %1009 200,000 &

—8& & 180,000& 180,000 &

@ 2Zste AAXNZFAHAICIHOIE S&

— EZZ 150,0003*2A|2t*43] 1,200,000 &

— =9 36,0003 x4 144,000 &

— 2ZAFAICH 10,000 & x5H %4 3] 200,000 &

® 2ZZSHE Tourism Field Training

— A ESELNER 150,000 *2A12tx43] 1,200,000 &

® 2ATS2 SFDAHIA RADE HES

— 2tAIH| 2,0002 %80 160,000 &

© SASSRANLIHE

— HIgAME A SH 250,000&*20H 5,000,000 &

@ g sS =T

— SY2AIZ 150,000 *2 A1 2tx1H 300,000 &

— 2FARAITHE] 10, OOOC’J*SDq 50,000 &

— 5149t 55 000 & *3M & 165,000 &
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1XH=2 Ol At = 0 Abo Sos NEED 2 o
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—NMZZAME T2 220| 1,475,0002 1,475,000 &
© 22¢sY B L ostns
—sHose 25 HE L 05 DS 16,000,000 16,000,000 2
—229se A 100,0008*40% 4,000,000 ¢
® EECINOIAY
— BT SEH U A AN HETASE JIEE 11 330,000 ¥
—WAZYARS S 895" 17,482,000 17,482,000 2
® SO0lLSD HEFSI}IE 3
—89/5] X2l 100,000%10% 1,000,000 &
—3/9/H| 100,000%13] 100,000 &
® QOIDAIE YYD
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® S0 DL AHAE
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© S2NSN S2DK0IHSSIEHs D E
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® SE2DID ZOHOIOI L &
—HIE KT 250,0009 «1 HIE 250,000 ¢
—HIE A IIAZ R 50002 %300 150,000 &
SADNSN SANSHIMSIIUNES
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® S2TWSD ASEZI|B MSIES 2H2H5| D A OIL
—AlH| 10,0002 %50 500,000
©® SOE4DST QUISLDSAMNAAY IS
—2AZ 200,000 %4 800,000 &
—AlH] 5,0008 %155 «23] 150,000 &
© E2VSY HDUZZ Y 29
— DD HEH| 200,0008 «5E 1,000,000 &
® SOIE4DS] 22LFDNI0IL
—S2F ZLAF2 200,000 %2 400,000 &
—AlH] 9,00080%110% 990,000 &
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1K= O A 2 &y CEA—‘E:;)_‘ MEZA = 9
(A) (8)
© EZCIACIALS
—ANEHER NFAS IIES 11,200 *750 M+ A E 8H 2 8,860,000 &
®© MESX S 515 20,769,000 20,769,000 &
® MATLAB & 545" 12,829,000 12,829,000 &
® MSAtE®# 2 2Z 130,350,000& 130,350,000 &
@ ICT &oZ=ME N
—HI2NME S2ZFH| Y 2rAlH| 20E%175,000& 3,500,000 &
® J|I=CAlolILt
—2ZALZ 75,0003 #2 Al 2hx5 2L %23 1,500,000 &
—2tAIH] 2,000&*25H*5 2 %2 35| 500,000 &
® Hacking Festival
—=4 18+300,000& 300,000 &
—24 28%200,000 400,000 &
—S4& 28%100,000& 200,000 &
—2tAIH] 2,000& *50H 100,000 &
© HAB XU X =
—322& &Itdl 158%20,000& 300,000 &
—=2 348l X& 10E8+70,000& 700,000 &
S22 M st=[l 3
—st= & <48l 600,000& 600,000 &
—2 38l XA 58+%100,000& 500,000 &
@ Tz HEAHS
—OH4&H 150,0003 1 H*23] 300,000 &
—=4 130,000 *x3H*23] 780,000 &
—24 100,000 *x3H*23] 600,000 &
—S4 80,000 x2H*23] 320,000 &
—2&ted 4 50,000& %2 H 23] 200,000 &
—Z 1A 10,000&*40H*23] 800,000 &
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—<==4 58+%200,000& 1,000,000 &
® Smart IT &&2 J&H=
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“ZHA 2 =AMl 2,0002 #4000 80,000 &
—Q S AT ALAM o,ooo%ﬂoeg 100,000 &
—THAFAF2 X2 1,000,000 %1 € 1,000,000 &
—2AAZX 2 500,000 +3E 1,500,000 &
—SAAE X2 300,000 +3E 900,000 ¥
—SAAZXIZ 200,0008 +3E 600,000
—EPAAFZ X2 100,0008 *3E 300,000 ¢
—3H AFEI B H]| 50,0002 50,000 &
® F=HIE Qs 2025 Y
—2ALZ 75,0002 %3 Al 2H+52 %23 2,250,000
—2LAIH| 2,500 *30 x5 %23 750,000 2
® 221X 250 BU HEAD EXPO
— 2T ME 905+5,000¢ 450,000 €
— B0 HE 1I§%55,0009 55,000 &
@ OHZ 5T BU HEAD EXPO
— &% ME 1808+5,000 900,000 €
— B0 HE 1I§%55,000 55,000 &
® 2232 %8 3 BU HEAD EXPO
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